Exercise 1.1.  [Short Questions]
Let M be a set of formulas, and let I’ and G be formulas. Which of the following assertions
hold?
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Exercise 1.2. [Coincidence Lemmal]
Assume that for all atomic formulas A; in F, A(A4;) = A'(A;). Show that
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Exercise 1.3. [Semantic Proof]
Let F FF — G where F and G do not share any atoms. Show that then either I is unsatisfiable
or GG is an tautology (or both). Hint: you may want to use the previous result.
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Exercise 1.4.  [Satisfiability Algorithms]
Check the following formulas for satisfiability using one of the algorithms seen in the lecture:
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